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M4Z (2020)

[4.14]

4.33 S; known ; P=90N —, ¢ =3cm, b=12cm, d =7 cm
unknown ; 7, D M; A& A =F.B.D.)

= HUE HY o HFP, vy FF 1&2
TEB <
— |V
A, c=b-a=02cm - Bcm =9 cm Dy A
5 12 T
Tpp = Typ = T, Typ = ET Typ, = 13T < D, . b
(a) +1=M, = 0 ;
a Ty + ¢ P~c Typ, —d Typ =0 >
5 12 | d | P
:>CLT+CP_C§T_CZET—O
5 T= -0 P=— (192““) (90 N)
ECJFECZ_G ﬁ(9 cm)+§(7 em) — (3 cm)
=(1.3) O0 N) = 1170 N = T=1170 N
(b) =»XF, =0 ;
D, + P~ Tgg = Typ =0
5 18
5> D, =T+ T~ P= 121170 N) - (90 N) = 720 N
12F, =0
D, + Typ =0
= _E = —E = —
= D, = 3 T 13 (117.0 N) 108.0 N
D= /D2+D? = V(120 N> +(—108.0 N)* = 129.80 N
. D _, —108.0 N ,
_ 12y _ 1 _ 1(_ - _ o
f = tan D, tan 2.0 N tan (=1.500) 56.3
= D = 129.8 N \56.3°



445 m =175 kg, C=600N, a=15°, a=36m, b=45m M < 500N-m
S; WhE 8 1&3(AA A, = M; A=A %=(F.B.D.)
3ol HE mWE 33 R
8]
+7ZMA =0 \
C
A, AD =15 m AB = 3.6 m
BD = V1.5°+3.62 m = 3.90 m W
AD _ 15m _ Yy |©
BD  390m 0.3846 A,

M:M(\OE]UH’TmaX
+ISM, =0; -M+ a T, -b C, =0

xr

AD ~
= M+a(ﬁT) b C cosa =0

bCcosa + M _ (4.5 m) (600 N) cosl5° + (500 N - m)

- T= AD - (3.6 m) (0.3846)

BD
M:M/)OE]HH’Tmin
+)SM, =0; M+ a T, -bC =0

xT

a

AD ~
= M+a(ET) b C cosa =0

b Ccosa — M (4.5 m) (600 N) cos15° — (500 N - m)

= T = =

AD (3.6 m) (0.3846)
“"BD
= T...=2240N, 7T, =1522N

R; (e: ZF, =& ZF, ¢ 8%&7)

T (el 77 T, < T<T,,, °IH?)

2,244,7 N

1,522.5 N



